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 .  Check whether the following are Quadratic Equations.
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Question 1

3
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We just check degree of equation. If, degree of equation is equal to 2 then only

 it is a quadratic eq

{ }

uation.

x+1 = 2 x-3                    a+b =a +2ab+b

x +1+2x= 2x-6

x +7 = 0

Degree of equation is 2.

⇒

⇒

 Therefore, it is a Quadratic Equation.
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2  2 3

2  6 2

2 2 6  0

4 6  0

 

Degree of equation is 2. Therefore, it is a Quadratic Equation.
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Solution ii
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2 1   1 3

2 2 3 3  0

2 2 3 3  0

2 2 3 3  0

3 1  0

 

Degree of equation is 1. Therefore, it is not a Quadratic Equation.
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Solution iii
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3 2 1  5

2 6 3 5

2 6 3 5  0

10 3  0

 

Degree of equation is 2. Therefore, it is a quadratic equation.
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Solution iv
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 2 1 3   5 1

2 6 3 5 5

2 7 3 5 5  0

11 8  0

 

Degree of Equation is 2. Therefore, it is a Quadratic Equation.

x x x x

x x x x x x

x x x x x

x x

− − = + −
⇒ − − + = − + −
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Solution v
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3 1  2                     2

 

3 1 4 4

3 1 4 4  0

7 3  0

Degree of equation is 1. Therefore, it is not a Quadratic Equatio

{

n.

}x x x a b a ab b

x x x x

x x x x

x
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Solution vi
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2  2 1                                              3

2 3 2 2   2 1

8 6 2   2 2

2 2 8 6 12  0

6 14 8  0

 

Degree of

( ) { }

 Equation is 3.

( )

x x x a b a b ab a b

x x x x x

x x x x x

x x x x x

x x x

+ = − + = + + +
⇒ + + + = −
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Solution vii

 Therefore, it is not a quadratic Equation.
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4 1  2                             3

4 1 2 3 2 2

4 1  8 6 12

2 13 9  0

 

Degree of Equation is 2. Therefore, it is a Quadratic

{

 Equat

}

i

x x x x a b a b ab a b

x x x x x x

x x x x

x x

− − + = − − = − − −
⇒ − − + = − − −
⇒ − − + = − − +
⇒ − + =

Solution viii

on.
 

 

 

I am also present on facebook. 

Please like and share. 
https://www.facebook.com/pages/Math-on-Rough-Sheets/300575096712996 
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